

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

INVOICE

Invoice Number: 138721

Invoice Date: Sep 20, 2013

Page:

1

Now Includes:



Cüstomer ID	Field Ticket #	Paymen	t Terms
Murfin	61154	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Sep 20, 2013	10/20/13

Quantity	Item		Description	Unit Price	Amount -
		Shaw-Albers Unit #1-6			
200.00	CEMENT MATERIALS	Class A Common		17.90	1 '
7.00	CEMENT MATERIALS	Chloride		64.00	
210.00	CEMENT SERVICE	Cubic Feet		2.48	
387.28	CEMENT SERVICE	Ton Mileage		2.60	1 '
1.00	CEMENT SERVICE	Surface		1,512.25	1 '
40.00	CEMENT SERVICE	Pump Truck Mileage		7.70	308.00
	CEMENT SERVICE	Manifold Rental		275.00	275.00
40.00	CEMENT SERVICE	Light Vehicle Mileage		4.40	176.00
1.00	CEMENT SUPERVISOR	Alan Ryan			
1.00	OPERATOR ASSISTANT	Kevin Ryan			
,					
	•				
			000		
			0,, /10		
			/		1
L					7 000 00

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

2,739.44

ONLY IF PAID ON OR BEFORE

Oct 15, 2013

Subtotal		7,826.98
Sales Tax		288.00
Total Invoice Amount		8,114.98
Payment/Credit Applied		
TOTAL	り 表示で 19 30 多 a 3 2 3 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	8,114.98

ALLIED OIL & GAS SERVICES, LLC 061154 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX SOUTHL	(93999 AKE, TEXAS 760	92		SER	VICE POINT:	. V
	<u> </u>				WANG	5-/^/
	30 TWP.4	RANGE 30	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
Show Albert	ELL# 1-6	LOCATION SOLD	len 1470 Ad	00 131. 1	COUNTY	STATE
OLD OR NEW (Circle		TOWN CO	6. 1 10 10 10 10 10 10 10 10 10 10 10 10 1	90 17910	BELETIN	1/65
OLD OK RED (CHE	onej	BR ECN	120	<u> </u>		
CONTRACTOR MA		····	OWNER	5000	-	
TYPE OF JOB 5	attal					
HOLE SIZE 121	q T,D.	265	CEMENT			
CASING SIZE PS	DEF	TH 265	AMOUNT C	rdered <i>2000</i>	Com 30	000
TUBING SIZE	DEF	TH		1100000		
DRILL PIPE	DEF	TH			······································	
TOOL	DEF	TH			-	
PRES, MAX	MIN	IMUM	COMMON_	200	@1)20	200050
MEAS, LINE		E JOINT	POZMIX			22012
CEMENT LEFT IN C	\$G. \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\		_ GEL			
PERFS.			CHLORIDE	13	@ 64/ED	640,00
DISPLACEMENT	100	D BBL	_ ASC_		- \$ \$27	710
	EOUIPMENT	10 005		·	~ &	
	EQUIPMENT				_@	
	1				_@ <i></i>	
PUMPTRUCK CE	MENTER_#	~ Kyan	~			
# 423-221 HE	LPER Heu	N LUAN		······································		
BULK TRUCK	10		***************************************		_@	
# 396 DR	IVER HOX	TINS			_`@	
BULK TRUCK	1	<u></u>		· · · · · · · · · · · · · · · · · · ·	_@	· ———
# DR	IVER				_@ <i>Up</i>	
	1		HANDLING		_@ <i>2</i>	520
			MILEAGE 2	2-104mil 7.6	<u>13 700</u>	1006-2
Λ	REMARKS:		•		TOTAL	5555
Her Coy, Cirus	ute Mix Co.	sent Listles	Court			
				SERVI	CE	
Shut w						.
			DEPTH OF J	OR	260	
	1			CK CHARGE		101225
Coment No	X.	aculate	EXTRA FOC			15/2/==
			_ MILEAGE		-@- 52 2	10000
	ナ	hall Ym	-			-300
	,	You, Klein Alex	- MANIFOLD		- [@] 7774/7	13/00
	•		Cer Veli z	1 1/m (b)	@ 7.2-	116
M /	5 . 1 . 11.		·····			
CHARGE TO: Much	2 \ \X \ \X\ \(\\\\\\\\\\\\\\\\\\\\\\\\\\\	<u> </u>	•••			. 25
STREET	0	•			TOTAL	223/-
CITY	STATE	ZIP				
			_			in .
			-	PLUG & FLOAT	EQUIPMEN	, ,
			_	PLUG & FLOAT	EQUIPMEN	
				PLUG & FLOAT		
					_@	
To: Allied Oil & Goo	Services IIC				_@	
To: Allied Oil & Gas					_@ _@	
You are hereby reque	sted to rent cem				_@ _@ _@	
You are hereby reque and furnish cementer	sted to rent cem and helper(s) to	assist owner or			_@ _@	
You are hereby reque and furnish cementer contractor to do work	sted to rent cem and helper(s) to k as is listed. Th	assist owner or e above work was			_@ @ @ @	
You are hereby requi and furnish cementer contractor to do work done to satisfaction a	sted to rent cem and helper(s) to k as is listed. Th and supervision c	assist owner or e above work was of owner agent or			_@ @ @ @	
You are hereby reque and furnish cementer contractor to do work	sted to rent cem and helper(s) to k as is listed. Th and supervision c	assist owner or e above work was of owner agent or			_@ @ @ @	
You are hereby requiand furnish cementer contractor to do word done to satisfaction a contractor. I have re	sted to rent cem and helper(s) to k as is listed. Th nd supervision o ad and understan	assist owner or e above work was of owner agent or d the "GENERAL			_@ @ @ @	
You are hereby requi and furnish cementer contractor to do work done to satisfaction a	sted to rent cem and helper(s) to k as is listed. Th nd supervision o ad and understan	assist owner or e above work was of owner agent or d the "GENERAL	SALES TAX	(If Any)	_@ @ @ @	
You are hereby requiand furnish cementer contractor to do wor done to satisfaction a contractor. There is TERMS AND CONI	sted to rent cem and helper(s) to k as is listed. Th nd supervision c ad and understan DITIONS" listed	assist owner or e above work was of owner agent or d the "GENERAL on the reverse side		(If Any)	**************************************	
You are hereby requiand furnish cementer contractor to do word done to satisfaction a contractor. I have re	sted to rent cem and helper(s) to k as is listed. Th nd supervision c ad and understan DITIONS" listed	assist owner or e above work was of owner agent or d the "GENERAL on the reverse side	SALES TAX	(If Any)————————————————————————————————————	**************************************	
You are hereby requiand furnish cementer contractor to do wor done to satisfaction a contractor. I have re TERMS AND CONI	sted to rent cem and helper(s) to k as is listed. Th nd supervision c ad and understan DITIONS" listed	assist owner or e above work was of owner agent or d the "GENERAL on the reverse side	SALES TAX	(If Any)————————————————————————————————————	**************************************	
You are hereby requiand furnish cementer contractor to do wordone to satisfaction a contractor. I have re TERMS AND CONFERMS AND CONFERMS OF THE PRINTED NAME	sted to rent cem and helper(s) to k as is listed. Th nd supervision c ad and understan DITIONS" listed	assist owner or e above work was of owner agent or d the "GENERAL on the reverse side	SALES TAX	(If Any)————————————————————————————————————	**************************************	
You are hereby requiand furnish cementer contractor to do wor done to satisfaction a contractor. There is TERMS AND CONI	sted to rent cem and helper(s) to k as is listed. Th nd supervision c ad and understan DITIONS" listed	assist owner or e above work was of owner agent or d the "GENERAL on the reverse side	SALES TAX	(If Any)————————————————————————————————————	**************************************	



PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

INVOICE

Invoice Number: 138845

Invoice Date: Sep 26, 2013

Page:

1

Now Includes:



Customer ID.	Field Ticket#	Paymen	Terms
Murfin	54793	Net 30	Days
ું Job Location	Camp Location	Service Date	₫ Due Date
KS1-03	Russell	Sep 26, 2013	10/26/13

Quantity	item:	Description	Unit Price	Amount
		Shaw-Albers Unit #1-6		177,3
132.00	CEMENT MATERIALS	Class A Common .	17.90	2,362.80
88.00	CEMENT MATERIALS	Pozmix	9.35	822.80
7.57	CEMENT MATERIALS	Gel	23.40	177.14
50.00	CEMENT MATERIALS	Flo Seal	2.97	148.50
277.00	CEMENT SERVICE	Cubic Feet	2.48	686.96
402.94	CEMENT SERVICE	Ton Mileage	2.60	1,047.64
1.00	CEMENT SERVICE	Plug to Abandon	2,483.59	2,483.59
35.00	CEMENT SERVICE	Pump Truck Mileage	7.70	269.50
35.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	154.00
1.00	CEMENT SUPERVISOR	Robert Yakubovich		
1.00	EQUIPMENT OPERATOR	Woody O'Neil		
1.00	OPERATOR ASSISTANT	Jesse Cozart		Į.

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

2,853,52

ONLY IF PAID ON OR BEFORE
Oct 21, 2013

Subtotal	8,152.93
Sales Tax	644.08
Total Invoice Amount	8,797.01
Payment/Credit Applied	
TOTAL	8,797.01



ALLIED OIL & GAS SERVICES, LLC 054793 Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE	POINT:
---------	--------

Russell KS

0.07.17	SEC.	TWP.	RANGE	<i>y</i> *	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
DATE 9-26-13 The w-Albert	6	6	29_	· Fo			COUNTY	9:00 pm
LEASE Unit	WELL#	1-6	LOCATION ,	Selde	n KS TW	1/2N Sinto	Rawling	KS
OLD OR MEW CI	rcle one)			,				
	44 0	~	1. #5					
CONTRACTOR	Yurt H	1):11	149 -		OWNER		. ,,	
TYPE OF JOB P	1 A		4220		CEMENT			
HOLE SIZE 73	8		<u>. 7220</u> ТН		_ CENTENT O	RDERED <u>220</u>	69/40 48	14451
CASING SIZE		DEI			_ AMOUNTO	KUEKEU <u>Z Z Q</u>		7-1-11
TUBING SIZE DRILL PIPE 4/2	16.6	DEI	TH 252	5	- 		• • • • • • • • • • • • • • • • • • • •	
TOOL	70.0		<u>ти -о т.</u> тн					
PRES. MAX			MUMIN		_ COMMON_	132	@17.90	2362.80
MEAS, LINE			DE JOINT	-	POZMIX	88		852.80
CEMENT LEFT II	VCSG.				GEL	7.5.7	@ <u>23,40</u>	177.14
PERFS.					CHLORIDE			
DISPLACEMENT					ASC		@	
	EOU	IPMENT			Flo sea	<u> </u>	_@ <u>2.97</u>	148,50
	240				5	0 to	@	
DUMPERUSY	CEMENT	ED Dal	-+ V		-		@	
	HELPER						@	-
BULK TRUCK	HELPER	wood	<i>y</i> <u></u>				@	
	DRIVER	-					@	<u> </u>
BULK TRUCK	DRIVER	Jesje					_@	
	DRIVER					0 0-1	@	1000
#	DRIFER				- HANDLING	277 -5+3	_@ <u>2.48</u>	686.96
					MILEAGE	102,9## +/		1047.64
	RE	MARKS:	•				TOTA	L 52 45.84
1	2 <i>5s£s</i>	25.7	5		_	•		
	post @					SERV	ICE	
	405k @				_			
" "	105k @				_ DEPTH OF.	IOB		75
	30sk 6		hole			CK CHARGE	248	5.59
	<u> 1557 C</u>	Mou	se hale		_ EXTRA FO		@	
						35 HVMI		269.50
			ante yo		→ MANIFOLD	<u></u>	@	_ <i>_154.00</i> _
		In	ANE YO		<u>ر </u>	5 LUMI		176.00
							@	
CHARGE TO: 🗘	Jurt's	Dr:11	. ค.ศ.		<u> </u>			2907.09
			J		•		TOTA	L 2929.09
STREET					_			
CITY	ST	ATE	ZIP_		_	PLUG & FLOA	UT FOTIDME	NT
						TLUG & FLO	i EQUINE	111
•					·			
					·		@	
					- , 			
To: Allied Oil &	Gas Serv	ices, LLC	· •					
You are hereby i				ipment	. ,			
and furnish cem	enter and	nelper(s)	to assist own	eror		 	@	
contractor to do	work as is	listed. T	he above wo	ork was	;			
done to satisfact							ATOT	L
contractor. I have	ve read an	d underst	and the "GEI	NERAI	_•			
TERMS AND C	יונע מנונערני אודותערני	NS" liste	d on the reve	erse sid	Z SALESIA			
I EKNIS AND C	OMDITIC	7110 11010	d on the rest		(*). TOTAL CH	ARGES 2121	93, 8152	.93
•	_			•				
PRINTED NAME	ALTUR	O Car	2-2-8		DISCOUŅŢ	284 2	155,521F P/	VID IN 30 DAY
•	· /· · ·	•			¥	5 15 70	\$5299.4	1 net
atos i imitor	1	. 1	_		, -			
SIGNATURE	4-1110	<u>u</u>	<u>\$</u>		_			
					•			